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3 Y RIS HI (crel:@@)
SN B G2 HR - DS Ofl 08 IS Of b SImE=L o E2 A

z 2,591,000 3,379,000 788,000
1 22| ot 2,591,000 3,379,000 788,000
I KoY L A zel 153,000 97,000 56,000
LGS SRBR(SRIJLSLEIA) 130,399 85,640 44,759
SRS B 130,399 85,640 44,759
207 S Ap | 124,759 80,000 44,759

124,759 80,000 44,759| 01 1R E Y| 44,759

0 )22 XA 44,759

O BHEMZAE SLHZY SAAMETH)

44,759,0009 * 141 = 44,759

[l 44,759]
=4 OHIHI(SRINLSEEIH) 22,601 11,360 1,241
ofl Bl bl 22,601 11,360 11,241
801 Oiltl | 22,601 11,360 11,241

22,601 11,360 11,241{ 01 olbI4] 11,241

O o8l 2R 22,601,000 - JI& 11,360,0008 = 11,241
hess(szael) 2,438,000 3,282,000 844,000
WEHHNS (ST NS SHSIH) 2,438,000 3,282,000 844,000
TEV R WNEICSSIICEEE P 2,438,000 3,282,000 844,000
309 ZIIABATES 1,574,000 1,710,000 136,000
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S 9 URAHNE(SRNASEEI) (29 d3)
SN FH 9 R DS Of & oIS ol ek Hns2 & &2 A
1,574,000 1,710,000 ~136,000{ 01 BIIASL NI AHES 136,000
O ot=E3)1 SEaH H&3 136,000
O JHot+ZLHeld
ZH 1,478,000,0002! - JI & 1,614,000,0002 = 136,000
o] 2& 1,478,000 7| & 1,614,0001 [7] A 136,000]
701 JIEtSIHEES 864,000 1,572,000 A708,000
864,000 1,572,000 A708,000 (01 JIEFE| HE &S 708,000
O geral 823 A708,000
O &0 2% Dt2at+HelAL
23 207,000,0002 - J1& 99,000,0008 = 108,000
1 23 207,000 018 99,000] [ 108,000]
O otk MelAld
2d 02 - JI® 8,000,0002 = ~8,000
o] 2& 071 8,000] [2| A8,000]
O OtE dt=H2lAlL
2H 296,000,0002 - JI & 461,000,0002 = 165,000
D1 23 296,000 1 & 461,0001 [0I A 165,000]
O Wg Helz2 o2t
2H 02 - JIF 342,000,0008 = 342,000
[0 28 0218 342,000] [ A\ 342,000]
O OtEHMe2| 7Y ot
ZH 136,000,0002 - JI & 355,000,000 = ~219,000
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JIE Ol &ty Hws2 &= 2 A
[0 3F 136,000 21 & 355,000] [21 A219,000]
O HHAILY OtSot=&
2 & 4,000,000& - J1E 3,000,000& = 1,000
[0 23 4,000 J1& 3,000] [2I 1,000]
O 2 HdelAlg
Z & 100,000,000& - J1& 157,000,000& = A57,000
[0 2F 100,000 J1& 157,000] [ 21 A57,000]
O II=sE=HelA4
2 & 89,000,000& - JIE 129,000,000& = 240,000
o 23 89,000 JI& 129,000] [ 21 £40,000]
O Jtell Otsst=% 2,000,000& = 2,000
[l 2,000]
O 82U ot=st=% 2,000,000& = 2,000
[l 2,000]
O Z&% Otsdt=% 3,000,000& = 3,000
[l 3,000]
O g otsot=% 2,000,000& = 2,000
[l 2,000]
O g4 Oisot=& 3,000,000& = 3,000
(D] 3,000]
O U= otsst=% 2,000,000& = 2,000
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